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1. If n is an odd natural number, then

'n,(n2 — 1) is divisible by:

(i) 24
(i1) 48
(i) 120
(iv) 64
A. 24
B.48
C.120

D. 64


https://dl.doubtnut.com/l/_mXSULRBs8D2Q

Answer: a

o Watch Video Solution

2.Foralln € N, 2" "1 4 32"~ 1is divisible by:
(i) 5

(i) 7

(iii) 14

(iv) 135

A5

B.7


https://dl.doubtnut.com/l/_mXSULRBs8D2Q
https://dl.doubtnut.com/l/_kAc3fU4Xa32w

C.14

D. 135

Answer: b

° Watch Video Solution

Multiple Choice Questions

1. Let P(n):2" <n!, then the smallest

positive integer for which P(n) is true is:

(i) 1


https://dl.doubtnut.com/l/_kAc3fU4Xa32w
https://dl.doubtnut.com/l/_AjJXU1tlko0e

Al

B.2

C.3

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AjJXU1tlko0e
https://dl.doubtnut.com/l/_IjfVk2Tq4k1b

2. Consider the statement P(n):n* — n + 41
is prime. Them which of the following is true?
A. Both P(3) and P(5) are true
B. P(3) is true but P(5) is false
C. Both P(3) and P(5) are false.

D. P(3) is false but P(5) is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IjfVk2Tq4k1b

3. Let
Pn)=14+3+4+5+..+2n—-1)=3+n’
, then which of the following is true?

(i) P (3) is correct

(ii) P (2) is correct

(iii) P(m) = p(m + 1)

(iv) P(m)_="P(m + 1)

A. P (3) is correct
B.P (2) is correct

C.P(m) = p(m + 1)


https://dl.doubtnut.com/l/_6AZYAyllBZ2U

D. P(m)_=P(m + 1)

Answer: C

o Watch Video Solution

4. Let P(n):n*<2",n>1, then the
smallest positive integer for which P(n) is

true?


https://dl.doubtnut.com/l/_6AZYAyllBZ2U
https://dl.doubtnut.com/l/_tCkKcVOcua0m

(iii) 4

(iv) 5

A2

B.3

C.4

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_tCkKcVOcua0m

5. Consider the statement P(n):10n + 3 is

prime, then which of the following is not true?

A. (a)P(1)

B. (b) P(2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WO53nJIJSP4v
https://dl.doubtnut.com/l/_uWxeNsQhdr2Q

6. Let P(n) be the statement n(n + 1)(n + 2)
is an integral multiple of 12, then which of the
following is not true?

A. (a) P(3)

B. (b) P(4)

C. (c) P(5)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uWxeNsQhdr2Q
https://dl.doubtnut.com/l/_zdDobB34dfFK

7.Let P(n):(2n + 1) < 2", then the smallest

positive integer for which P(n) is true?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zdDobB34dfFK

8. If 10"+3.4""2 4+ k is divisible by
9, Vn € N then the least positive integral

value of k is

A (a)1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Dii36paALa2H

9. For all n € N, 3.5 "1 4 2371 is divisible
by:

(i) 17

(ii) 19

(iii) 23

(iv) 25

A 17
B.19
C.23

D. 25


https://dl.doubtnut.com/l/_WBdRcVzOxN72

Answer: A

o Watch Video Solution

10. If ™ — 1 is divisible by x-k, then the least
positive integral value of k is:

(i) 1

(ii) 2

(iii) 3

(iv) 4

Al


https://dl.doubtnut.com/l/_WBdRcVzOxN72
https://dl.doubtnut.com/l/_GvVeLTtcSwHb

B.2

C.3

D.4

Answer: A

o Watch Video Solution

11. A student was asked to prove a statement
P(n) by induction. He proved that P(k + 1) is
true whenever P(k) is true for all k > 5 ¢ N

and also that P(5) is true. On the basis of this


https://dl.doubtnut.com/l/_GvVeLTtcSwHb
https://dl.doubtnut.com/l/_xjI5TT8dYDix

he conclude that P(n) is true

(i) Vn e W
(i) Vn > 5
(iii)) Vn > 5
(iv) Vn < 5
AVneW
B.Vn > 5
C.Vn >5
D.Vn < 5
Answer: C

| 8
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